Las pourquoi

Jacob Buus

A Cantus

las

donc

vous

S€zZ

pour

las

donc

quoi

O

- quoi

pour

(0]

[ X3

O

quoi

lais

donc

[0 )

ho
©

donc

quoi

[

pour

Las

Las

pour

Las

quoi

[ )

pour

p Quintus

O

Yir)
[ 2o W (DK @ X

pour

Las
A Altus

[ & X3

Las

A Tenor

A Sextus

7 Vir)
[ A 2o WA
ANV 4

-

Bassus

—

-~

pour

Las

[ X0

T
a2 40 N
¢ =) N| 2 ¢
.
=
= A1 RZ 1H 111
mw \ .n|.a ﬁ.llu \
Q
o]
=
) 8 [ T QL
Q
L N
ol o a2 e
- q
w) = .
L e = N QL
& 8
w w) =
=] I~ = = 44 ° A
o \NEl o 2 N\ g QL
g 2 3 =
N N m
9 QL 9 QL <9 q m Q/
1 1
w2 w2
2 TN 2 odl 2008 2 Qo
- - > >
N N
[ L ) L ) L |
Q 7 7 | [ %)
5 N o5 3
o - - >
— Q
o = HH N o
2 | Al g 1 o e
1 1
(Yl
172
Tl g T 2
. S =
.2 i N
_ g \I 9 1 [}
«m . .-
T 8 o] 2 [l . T Qo
' 51 Sy
N
— Q
R e el £ (ol 2
Q, — o
NE DN NG N - )

7

-~

pris

ceeur

le

vous

s€z

lais

donc

quoi



O

gran

si

si

d'a - mour

[

de

gran

[0

d'a

d'a

mour

mour

d'a - mour

[0 X3

si

mour

mour

[0 )

d'a

O

pris

coeur

le

d'a

cceur pris

le

pris

vous

lais - sez

vous

d'a - mour

vous

lais - sez

[0 )

—

-~

d'a - mour

pris

coeur

vous le

lais - sez

13
o)

1 I T
_ L
! N [ 1
°| 172 172 .
9| 8§ . 4| & [N+ E Q]
z |k o o |Wl] 2
N .2
L) m @ , \Il = W = NI =
1 1 1
) g
N| ¢ Q m Q| g g ol g
172 172 '
N[ = N om 3 3 T
> >
Q Q
=1
M o L 9 gl & 1
. . "
ol Q| « <« Tl 2
, >
g . 5 A1 ©
] mo c m M 3 Hl 8 N[ o o
0|
11 ] 11
= Q| , || , \ <
y| = [ _ [ o
=] A
[ ¢ g _ 3 {
] .
$t
2 | E q g
g en en
h | S S lold = | = c
_ 5
{ Q| ) ‘7
. g
' 5
TT1 < o
1 a| m
= = .
¢ 3 N mc 1 e m e
N N oo
m\d P PN o = nm\UB PN o = A-

7

-~

tre -

vous ¢€n

vee

de

gran

si

mour

d'a



e 3 gl 3 NI = \ «
[ g [ b
[y
o
=
| c 5
=
i . o
2} +— e
e H 2 e 5 3
g
EEL q o [}
nw I & =
O Jl B2 o|| 2
(=9 (=8
G ¢ 5 ol B | B
v 1 '
N B €l & \ g ol
>
1 172}
) ¢ A = q 2 A3
>
e ol °
|l I 5 m 5
N ™ W AL NEH 5] \ W N
g
[ 18 1 Q] 1
TR = Al g \ s
il [ TN| § [ T T
2]
||||n w
>
|| & | 8 |6
TN 8 TN = T T
o
] 3 [ ul q
o S SN N N =

=~

de

pris

tre

cn

veCc vous

a

pris

21

77
]

1
ol 8 '
e e T NI
_ _
e 5 g |l N o
1 ! 1
I S [ ol
[ TR 8 || o|| = g
1
e = N 2 g1l = TN
1
M I ol 5 ol e el
T ! ™| 8 |
MH S
1
] ol g A s el S
N = N = ]
(o)
1 b= o <
° 1 ™ B 1
=
+H 5}
=]
ol £ [ Bl &g [» ol = |@
Q ]
Q| < | 0
(o)
Wil &
M k5]
g
= - =
a4l 3 Qi E £ |9
=
N Jo
£ =9N Y AN N = 7

—

-~

vi

te

do-len

sa

fin

mettre



25

[ ]

[ )

va

eut

mieux

val

eut

a

puis - qu'en

puis

lu

va

[ )

mieux

[ )

mieux

va Iu

eut

eut

mieux

€

T
TN
L

vi

te

W)

vi

te

len

vi

mieux

vi

te

dol 4 en

sa

25

do

sa

25

te

len

25

do len

sa

25

—

mieux

va

eut

O

vi

77
I
I
a

puis - qu'en

a vez cn

qu'en

O

cn

vez

en vi

vezZ

a vez cn

qu'en

puis

a

puis - qu'en

a

puis - qu'en

[0 X0

puis

Iu

= 77 |
i f z
I I
y T
a vez en

&
I
I
qu'en

[IP2N}
a1

Iu

va

eut

=
]
I
puis

[ )
u

en vi

ve€zZ

29

O

—

-~

a vez cn

qu'en

puis

en vi

vez

a

puis - qu'en

Iu



33

O

€r cus

con - Sum

ol
T

- siez

cus

er

con - sum

que

vir

cr cus

con - Sum

que

er

con - sum

que

[0 )

er

con - sum

a vous  ser

siez

que

con - sum

que

en vi

vez

que

cr cus

con - Sum

Tl
el

cr

con - Sum

33

a

puis - qu'en

33

en vi

vez

que

33

que

33

—

-~

eus - siez

cr

con - som

con - som cr que

que

vi

[|P2N]
T

vir

qu'en

lais - sant

lais - sant

le

qu'en

lais - sant

le

qu'en

vir

ser

vous

le

qu'en

WY

kil

qu'en

ser

eus - siez

vir

.

- vir

ser

vous

lais - sant

vous

vir

a vous ser

siez

a

eus - siez

le

qu'en

a vous ser

siez

37

-~

qu'en

- vir

ser

vous



41

1
1
R L | & 3 N 3 L]
-
_ TR § ol
= W
} . 1
a 172
k= T3 =1
<
£ c c -
o ) _
8 Iy
g Hrd = 8 ]
g N S a 2
[75]
1
[y
2 o 20 TN
1
-
= = N =] R
m [} % QL % m..
_ =]
_ ) o
-2 g o - i
& S| o 3 =3
3] ) [ il
< ¢ 3 Q L
5 1l ° ! 5 RETN
B L) 5,
N Rt
g g g N N
5 N 5 5
1 1
_ 175}
@ - — ﬂ||
@ . — a
= = =
~
¢ E ) 0] 1
2 e 3 N e 2
o
2 |4l S
HA k
7 2
m lm 3 | m o
\RE [ 5, g
_ 172
5 @ L2 Rl
2 |MH E
o
2L L
[ Y -] ¢ mu %
—NLron - A./
- lnmw Mhlﬂ Tl L= 7 <

—

-~

le

sans point

lais - sant

le

qu'en

lais - sant

le

45

1
2] —
5 HEY 5 g
N2 e s M 5
=)
+~ +~
k= =] =] " Q
1 N | =
A = 5 5
. .
.
w
HE 2 £ £
g (3} (3} 1
N 2 \Il S = il =
|
_ L
=
.4 o
e | 2 4
=} . -
=i
- ) lm g w
T || @ 5
.
w2
5 5 Wl 2
o = M | s 3
o
I
I i | N\ 2 o
[ o g
w
_ 5
g N Q
| 2 4
-
g [
w
.
wl
L ¢
— 5} .«h -
2l = |d|| o = (]l e 5
E_3 = M —_ =
1 1
:
5 =
=
8 2 8 ol 2 ol 8
TR 3 L = 3 =3
gy 2 =2 _ _
4 I
8 q Q @
! < ! <
G 2 alll @ q
™
-
E gl = Q .m &
i g > g
N ¢ N o 2 ﬂl
oo NG s NGeor NG ¢

7

-~

qu'en

- sant

lais

i ! le
vir qu'en

ser

des



O

o wa
ol 5 (Wl E o o2
5 =
- ~
=
q = g
IR S 1 | | m.
[72) [72]
NI = NN =
T = 3
"mu\ = o "mu\ o
= 5 N\ I ™ = 5
=
| | — 1) — 0
D Q R - L i~ Gl o
A1t G = > @
1 1
_ [ ALl 8 ol &
wn wn
al 3 ol g a2
o R=] q 1) o m
@ IS IR - ™ L m.
1
o MRl 5 2 2
ol = o 2 Y g Y 8
1
-
s 4l ] 41 b=
g ]
L m. N\ 3 N\ S
2] %)
N m TN ] @ QO TN ‘=
g =
<
=
n TR 3 N TR| E
a
(11 Y
w
=
el g el g Cl| =
3 @ "
. - -
=] =] B
M § M 5 (R &
' ' -
ol E ol 2 (el e o 2
= = 2
. - h~1
=
N o ol § (ol @ nLL 5 [
v
a
™ ™ N
o NG 2 NGoe 2 N> 2 No- 2

-~

sant point

des - ser - vir

le

sans point

lais - sant

le

53
o)

y a¥
[ an)

Tall

O
i

Il

Vir.

¥k

ser

des

Tall

||.‘mvb)ﬂl

VII.

I e I

NP T

53

ser

des

point le

53

sans point le

sant

— 33—

53

[ 4 .o W K]
V

ser

des

53

m
TNl

AN A S—

53

el

7

-~

Vir.

ser

des

le



